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AG. STATISTICS Note : This section contains six questions, attempt any

Elementary Statistics and Applied three questions. Each question carries 10 marks.
Mathematics Answer must be descriptive. 3x10=30
(D-194)

Time : Three Howrs) | =z z  AR: WERH ege ¥ R AT e
| ours [Maxi Marks : @ 7 :
| fmum Marks - 50— 2 SR U5 10 it 1 | Frga Io ol ®)
Note: This paper is divided into three Sections-A, B and g g ' i i '
C. Secti : . ’ = = 1. (a) Define statistics and discuss its various uses.
» dection-A contains Descriptive Answer = o o] = e I B
Questions, Section-B contains Short Answer % EE;: w o
Questions and Section-C contains Very Short é" §- ST T e HI
,.Answer Questions. Attempt all the sections as per § § (b) Explain the purpose of classification and
Instructions. tabulation of statistical data.
e T UF-UH F A @S o, § | F B § i N ?
o 81 wve ‘9 & frga sata ue, R #; = !
gve @ S 30 T qo WO @ s 2. Define coefficient of variation. Find the coefficient
g T 59T E | W e @) R of variation from the fgllowing distribution:
PifoTT | ' Class :10-10 {10-20]20-30]|30-40|40-50( 50-60

interval

_F_requency 1 2 8 15 12 | 10 3
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3. () Explain additive law of probability by giving
suitable example.
MR & 4§ Faw @ SUgE SEET
S T |
(b)  Three coins are tossed simultaneously. Find the
probability of getting : (i) two heads (i) at least
one head,
A Rt B oy Semn o B, fe
M B B A T A @) &
R (i) #1 ¥ #9 @& R
4.  Asample of 8 cows of a particular breed was drawn
and their average milk production (in litre) was
obtained as follows:
8,12, 16, 14, 15, 18, 15, 14
Test whether the average milk production of these
cows is 12 litres. (tabulated value = 2.36)
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oyt fer T

Tt #
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% o o @ A S AR
A R g R
8.12.16.14,15.18.15. 14
s o 5 @ T @ T A ol T A
qa 12 dex 21 (FRei A = 2.36)

(a) Give the layout and analysis of completely
randomized design. |
et argfesga ST B i o
Froi & fadeA R

(b} Define random sampling. Describe an
method of selecting random sample.

Wﬁmﬂﬂmﬂmlm

y one

Find a if the 17" and 18™ terms of the
expansion (2 + a)* arc equal. |
2+ a” 3 BFR JER & T
dr s @ A9 A Al a® A A

i |

(a)
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(5)

d [ X
(6) Find: dx (sinx)

x> )
[sm X
Section-B
qUS-q
(Short Answer Questions)

(g T 9e9)

Note: This section contains three questions, attempt any
fwo questions. Each question carries 5 marks.

Sx2=10
Ae: 0@ ¥ dvae ¥ @ uel @ e
PN | T&F 997 5 i 7 B

7. The mean age of group of 100 children was 9.35
years. The mean age of 65 of than was 10.51 years.
What was the mean age of the remainder?

9 Piferq

100 == & T WYE 3 ofiga ong 9.35 ¥ o1

T 8§ 65 B S Y 10.5199 & | S
T g A A g g F A

8.  Discuss the basic principles of experimental design.

T AR B I R $1 o i |
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(6)
9. Find the differential coefficient of 3 log x tan x.
3 log x tan x & HAIHAA '{IUIFE ST FifoTT |
Section—C
s g’
(Very short Answer Questions)
(atfr 7Y Tl )

Note: Thjs question contains five parts, all parts will
be compulsory. There will be no internal choice.
2x5=10

AT oy ge | g ST, W 9T o ¥ | e
PR A T8 BT T8 8

(i) .What 1s meant by 'central tendency'? Describe
the various measures of it.

i TR & w2 g R
SHIGE 1 3O R |

(i) Define mutually exclusive events and
mdependﬂntﬂvenls hitps://'www.cesustudy.com

TR St el ol v emalt o
qﬁWﬁﬁQ[

(i) Define null and alternative hypothesis, -

T T ¥ oftw 3 s s

10,
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(7)
(iv) Write the formula of F isher's t-test.

R & t-qdeer a1 g et |

(v) Find the value of Ed; (3x° + 8 cos X).

-él—x. (3x* + 8 cos x) T A & I |
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